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Équation de Poisson

• équation

u′′(x) = f (x), x ∈ [0, 1]
u(0) = u(1) = 0,

avec f (x) = sin(2π10x).
• solution exacte : u(x) = − 1

(2π10)2 sin(2π10x).
• solution numérique pour différents nombres de mailles :

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

−4

−3

−2

−1

0

1

2

3

4

x 10
−4

imax=30      erreur=0.30124     ( 30.124 % )



Équation de Poisson

• équation

u′′(x) = f (x), x ∈ [0, 1]
u(0) = u(1) = 0,

avec f (x) = sin(2π10x).
• solution exacte : u(x) = − 1

(2π10)2 sin(2π10x).
• solution numérique pour différents nombres de mailles :
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Équation de Poisson

• équation

u′′(x) = f (x), x ∈ [0, 1]
u(0) = u(1) = 0,

avec f (x) = sin(2π10x).
• solution exacte : u(x) = − 1

(2π10)2 sin(2π10x).
• solution numérique pour différents nombres de mailles :
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Équation de Poisson

• équation

u′′(x) = f (x), x ∈ [0, 1]
u(0) = u(1) = 0,

avec f (x) = sin(2π10x).
• solution exacte : u(x) = − 1

(2π10)2 sin(2π10x).
• solution numérique pour différents nombres de mailles :
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Équation de Poisson

• équation

u′′(x) = f (x), x ∈ [0, 1]
u(0) = u(1) = 0,

avec f (x) = sin(2π10x).
• solution exacte : u(x) = − 1

(2π10)2 sin(2π10x).
• solution numérique pour différents nombres de mailles :
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